ERRKRDHES

ERT—IN—2IBISH—F

20235686H (X) 3EIKIR6H

mC2 B SR

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | & 10000 =

[xE&] 1&:350,000H  23&:123,000H  3#&:70,000H  43%&:46,000H  53&:25,000H
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
=~ = ~ BaAE : -1-1- - BELLES] (BERE)
1 5 TUSYFALEY 4% 5 paE 1.(4_6).0 1-1-1-1 | 40.2 1 (4_53(; /ﬁﬁ%x
R:F4=TFTUSVF BFVITIRIAY HIET 7—L
'y 7 | AWhE 1:46.4 5-5-3-3 | 40.1| — 5 444 | EREHSLIE (EEFE)
2 4 SO4 7= 5.0 (2 1/2) *2) 'ZESI_?L?
R:F4—=TFAVNT~ B:L—IF4IY /=Y Tr—I
BEAISTE : -2-2- - EEE— (KR
3 6| FrAa—U— i 6 nEs [2 1(74?:)5 2-2-2-2 | 40.6 7 :132(; e (KiR)
R:O—IRAURAXA B:DREFIILA EvILUy RIT7—
2s ) )CF o6 | S 1:46.7 7-7-6-4 | 39.5| — 4 419 |BELLES) (E%FE)
47| 7 | PVIiFE—L %0 o Oy | s
R:/ITUZN B:S54 MU= HH BE
3 =23 9 AHHE 1:47 1 3-3-5-5 |40.2| - 3 466 | HERAD (BERE)
EH 3| RXAYITAIUX # 56.0 Q172 12 | I L=>7 @)
RiR—HANR BHYYRIT—FR [FilsaEae]
< SEIRE : -3-4- - REIR (KR
6ls|s | < trLnt Y w o | B8 g | e (0l = 2 | s g e
RIN=YITS5A4 B:IA4RXX—Tz)b EvIUy RI7—LA
~ o6 | BARA 1:50.4 6-6-7-7 | 42.7| - 6 | 453 |{EEREUE (M)
70101 |0—YRY— 56.0 (94H) 6 |SHES
R:IAYVITSwya BF:I7—)LI\A b B/ET7—L
@ 1—F—&RIEL
13—7— 2,6,(3,5),4,1,7
20—F— 2,6,(3.5.4,1.7
30—7— 2,6,4,5,3,7.1
40—+ — 2,6,4,7,3,5,1
@ ILRE
BB 2 200 JA R 2-4 660/ 5 & 2-4 1,730 3EE 2-4-6 15,010
B B 2 1909 2-6 1,610 =51 2-4 2,400 3EH 2-4-6 36,240
4 670 4-6 2,240M
ABCDOVTIRHTERERRODDZ, THERAILZETL




